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Atternpt all the questions. Every question has equal marks viz. 0.80.
Before attempting the question paper kindly check that this
booklet has total 16 pages and OMR Answer Sheet consists
of three copies. At the start of the examination and within first
five minutes, candidates are advised to ensure that all pages
of test booklet and OMR Answer Sheet are properly printed and
test booklet is not damaged in any manner. Serial No. and Series
of OMR Answer Sheet and Test Booklet match with each other.
In case of any discrepancy, the candidate should immediately
report the matter to the invigilator for replacement of test
booklet and OMR Answer Sheet. No claim in this regard will
be entertained after five minutes of start of examination.

. Do not forget to write roll number on the top of this question

booklet and OMR Answer Sheet.

_ Do not tear or fold any page of the question bookletand OMR

Answer Sheet. .

. Candidate must bring legibly printed Admit Card with recent

coloured photo pasted on it at mark B duly attested by
Gazetted Officer and one identity proof with photo like
Driving License, Voter Card, Aadhar Card, Passport elc.
at the Examination Centre failing which candidate, will not
be allowed to take the examination.

Candidates are advised to make sure to fill the correct name
Roll No. and test booklet code on the OMR Answer Sheet. If
the space for the Booklet Gode is left blank or more than one
booklet code is indicated therein and non Iiiling of name and
Roll No. as per instruction, it will be deemed to be an incorrect
booklet e and Answer Sheet will not be evaluated, The
candidate himself/narself will be solely responsible for all the
consequences arising out of any error or omission in writin
the test booklet code. Candidaté shall put his/her LTI [Male%
and RTI (Female) on attendance sheet, on the OMR Answer
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marks on the OMR Answer Sheet. Use of Eraser, Nail,
Blade, White Fluid/Whitener etc., to smudge, scratch or
dama?e In any manner on the OMR Answer Sheet during
Examination Is strictly prohibited. Candidature and OMR
Sheet of candidates using Eraser, Blade, Nail or White
Flulds/Whitener to smudge, scratch or damage in any
manner, shall be cancelled.
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1.

.(Q) Donkey

Which one of the following is not a search
engine ?
(A) Google
(C) Yahoo

Who was the first woman politician of

Haryana who served as a Governor of a
state ?

(A) Shanno Devi
(B) Chandrawathi
(C) Chandrakala
(D) Renuka Bishnoi

Lal Masjid of Rewari was constructed during
the rule of '

(A) Babar

(B) Mohd. Bin Tughlak
(C) Mohd. Ghori

(D) Akbar

v (B). Chrome
D) Bing -

Select the word which is least like other
words in the group.

(A) Cow (B) Deer

(D) Goat

First battle of Panipat was fought in
between

(A) Akbar and Rana Pratap

(B) Ibrahim Lodhi and Akbar

(C) Ibrahim Lodhi and Babar

(D) Akbar and Shershah Suri

is the first and youngest woman in
the world to climb Mt. Everest twice.

(A) Bachendri Pal
(B) Santosh Yadav
(C) Premlata Agarwal
(D) Arati Saha

was instrumental in collecting a
version of the Guga legend and published

in Indian Antiquary (1895).

(A) Major J. Abbott
(B) William Crooke
(C) Charles Swynnerton
(D) Richard Carnac
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10.

11.

12.

13.

14.

The Amendment of the Indian Constitution
which reduced voting age from 21 to 18
yearsis
(A) 61
(C) 42

Present Chief Minister of Arunachal
Pradesh is

(A) Nabam Tuki

(B) Pema Khandu

(C) Dorjee Khandu

(D) None of the above

Haryana Sanskrit Gaurav Samman for the
year 2016 has been awarded to which of
the following Sanskrit writer ?

(A) Prof. Shrikrishna Sharma

(B) Acharya Mahavir Prasad Sharma
(C) Prof. Rajeshwar Prasad Mishr

(D) Pandit Sitaram Shastri Acharya ~

(B) 62
(D) 44

Class which contains only pure virtual

function is called
(A) base class (B) derived class

(C) abstract class

It P(A) = %-and P(A n B) = g then
PA)- '
W 1 ® -

© 7 © 70

Which of the following is not a keyword in
python ?
(A) Try
(C) Throw

(B) Except -
(D) Pass

The code name used to launch an invasion
on lraq by USA in 2003 was

(A) Operation All Clear
(B) Operation Iragi Freedom
(C) Liberation of Iraq

(D) Operation enduring:[re.:ebdgm‘pf Iraq

(D) inherited class |

-3-
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15.

16.

i A

18.

19.

20.

21.

Ekuverin, a bilateral military exercise

{ﬁg%ngxdhetd in Belagal\f?,l was between

(A) SriLanka

B) Maldi
© Nepal (B) Maldives

(D) Singapore

Find the missin Ietters'- i
AL LMEI,I?._ S in the series

(A) WK

B :
o (B) OPQ..

(D) RST

-

Qh!y temple dedicated to Ekalavya is
situated in

(A) Khandsa

(B) Yamuna Nagar.
(C) Baharpur
(D) Sohna

Predict the outp_uti_"sum“ in the following.
- program. -

sum=0 v

foriinrange (1, 11,2):

sum+ =i

print “sum=", sum e

(A) 11 " (B) 22

(C) 24 (D) 25

Total number of gold medals bagged by

India in the recently held Commonwealth
Games is

(A) 25 ~ (B) 26

(C) 27 (D) 23

Karthik cultural fest in Gurgaon aims at
promoting

(A) Agricultural harvesting
(B) Martial arts and folk arts
(C) Happiness of husband
(D) None of the above

The leading Producer of Manganese in |,

India

(A) West Bengal

(B) Jharkand

(C) Odissa

(D) None of the above
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22.

23.

24.

26.

27.

28.

placed co-axially with a convex mirror of

In python, operators with same precedance
are evaluated

(A) Right to left (e

(B) Left to right

(C) Both (A) and (B)

(D) Cannot be determined

BRICS stands for

(A) Brazil, Russia, India, China, South Africa
(B) Brazil, Russia, India, Canada, South Africa
(C) Brazil, Russia, India, China, Switzerland
(D) Brazi, Russia, Italy, China, South Africa

A convex lens of focal length 20 cm is

radius of curvature 20 cm. The two are kept
15 cm apart from each other. A point object
is placed 60 cm in front of the convex lens.
The position of the image formed by the
combination is |
(A) 60cm (B) 40cm

(C) 30cm (D) 10cm

The mean deviation of the data 3, 10, 10,
4,7, 10, 5 from the mean is

(A) 2 (B) 2.57

(©) 8 (D) 375

Which of the following is not an award
presented by Haryana Sanskrit Academy ?
(A) Maharishi Valmiki Samman

(B) Mahakavi Baanbhatt Samman

(C) Maharishi Vedvyas Samman

(D) Mahakavi Kalidasa Samman

A and B are married couples. X and Y are
brothers. X is the brother of A. How Y is
related to B ? '

(A) Brother (B) Brother-in-law
(C) Son (D) Son-in-law

There are four bus routes between AandB,

three bus routes between B and C. A man
can travel round trip in the number of ways
by bus from A to C via B. If he does not want
to use a bus route more than once, in how

many ways can he make round trip ?
(A) 72 (B) 144

(C) 14 (D) 19

3/2018 (1) (E)
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29.  Which of the following districts of Haryana

is richest in mineral resources ?

(A) Fatehgarh (B) Mahendragarh
(C) Hisar (D) Ambala
Consider the following statements about

1929 Lahore.Congress Session.
1

~ 30.

Nehru.
It declared ‘Eyrna Swaraj' or complete
independence.
Decided to celebrate Jan. 26" 1930
as Independence day.
4. Gandhiji gave call for Do or Die.
Identify the correct statements.
(A) 1and2only
(B) 3and 4 only
(C) 1,2and 3only
(D) 1,2and 4 onhly

2.

3.

A galvanometer has a resistance of 30 Q and

a current of 2 mA gives full scale deflection.
How will you convert this galvanometer into
a voltmeter of 0.2 V range ?

(A) 700 Q resistance should be connected
parallel to the galvanometer

(B) 70 Qresistance should be connected

parallel to the galvanometer

700 Q2 resistance should be connected

in series to the galvanometer

70 Q resistance should be connected

in series to the galvanometer '

(©)

(D)

32. 7"-2"n e Nisdivisible by
-33% (A 7 (B) .2
«(C) 5 (D) None of these

The baking quality-of wheat {s attributed to
(A) Glutenin « (B) Gluten
(C) Glutenicacid (D) None of these

34. A magistrate has the power to direct the
police to investigate into

(A) anon-cognizable offence

(B) a cognizable offence

(C) only a non-cognizable offence asina .
cognizable offence the police is under
a duty to investigate

both (A) and (B)

(D)

It was presided over by Jawaharlal |. ;

e A
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35. Which one of the following is not an Internet
Service Provider (ISP) in India ?

(A) VSNL

(B) BSNL

(C) ERNET India
(D) Infotech India Ltd.

36. Thetask which is not performed by Election

Commission of India is

(A) Issuing notifications for elections
(B) Preparing electrol roll

(C) Nominating candidates

(D) Implementing model code of conduct

Which of the following statement is correct ?

(A) Modem converts the analog signal into
digital signal and vice-versa
(B)

Modem is a software
(C) Modem helps in stabilizing the
(D)

voltage _
Modem is the operating system

Right to Information Act (RTI) was enacted

in the year of

(A) 2003
(C) 2005

38.

(B) 2004
(D) 2006

39. Galenais
(A) CuFesS,

(C) ZnS

(B) PbS
(D) CaSO,

Who among the following have been awarded

by Param Veera Chakra for his service during
Indo-Pakistani war of 1971 ?

' (A) Hoshiyar Singh Dahiya
(B) Karam Singh
(C) Vikram Batra
(D) Yogendra Singh Yadav

41.
Ministers of Haryana was a union
Minister during 1975-77.

(A) Home (B) Finance
(C) Defence (D) Law:

Bansilal, one of the longest serving Chief

3/2018 (1) (E)
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42,

43.

44,

| a7.

48.

49.

45.

46.

- (A) Endometrium

Malt extracts of which crop are used as

supplements in energy rich drinks like
boost, bournvita, horlicks... ?

(A) Wheat (B) Oats
(C) Barley (D) Triticale

Rock Garden of Chandigarh was founded by
(A) Nek Chand Saini

(B) Albert Mayer

(C) Maciej Nowicki

(D) None of the above

was the longest serviné Governor of
Haryana.

(A) Dharma Vira .

(B) Birendra Narayan Chakraborty
(C) Ranijit Singh Narula

(D) Jaisukh Lal Hathi

The first Non-Aligned Sl__.lmmit was held at
(A) Belgrade ~(B) New York
(C) Delhi (D) Bangalore

Which of the following electromagnetic
spectrumis the chief cause of skin burning,
tanning, cancer, etc ?

(A) UV-A rays

(B) UV-Brays

(C) uv-Crays

(D) None of the above

Following is not a layer of uterus
(B) Myometrium

(C) Perimetrium (D) Ectometrium
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50.

51.

52.

53.

54.

55.

56.

57.

Investigation of an offence is conducted by
(A) Judicial magistrate

(B) Executive magistrate

(C) Police officer

(D) Both (A) and (C)

Identify the IP address from the following.
(A) 300-215-317-3

(B) 302-215@417-5

(C) 202.50.20.148

(D) 202-50-20-148

Which of the following personality is said to
be the father of folk theatre in Haryana ?

(A) Ali Baksh (B) Lakhmi Chand
(C) Daya Chand (D) Mukesh Yadav

What is the cause of Greenhouse effect ?
(A) IR rays

(B) Microwaves

(C) X-rays

(D) Radiowaves -

Find out the missing number in the
sequence -1, 0, 1, 8, 12(7[; 7. -

(A) 24 ) 44

(C) 60 (D) ©4

If |x - 2| < 5 then x lies in the interval
(A) [-7,3] (B) [-3,7]
©) 38,7] (D) [-7,-3]

Among the total foodgrain production, which of
the following crops ranks first in Haryana ?
(A) Rice (B) Wheat

(C) Maize .. (D) Pulses

_____is the state animal of Haryana.
(A) Elephant

(B) Blackbuck

(C) Indian bison / Gaur

(D) Asiatic lion
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(A) =nfae nfez

(B) =rurers i

.(C) fera furerrll

(D) (A) 3% (C) &

(1) Freaffirm if & smih w3 e |
(A) 300-215-317-3
(B) 302-215@417-5
«(C) 202.50.20.148
(D) 202-50-20-148

52. Preffiaa & & ) fmon # =i e

SR FEI SR ¢
ﬁ?ﬁm

(B) S =7
©) T (D) TENARE
53.“/—5;93%35[%@1%?
) IR ferel
(B) HEW
(C) X-fertot
.(D) e -
) C-;"’é’%ﬂ:;;@. .
1.0, 1, 8,27, 2§ g T T R |
(A) 24 (B) 44
(C) 60 -(D) 64
@ IR x—2| <5Mx___FRAHABL 4
(A) [-7.3] - @ (3.7 357
(C) (8,7 (D) [-7,-3]
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58. After successfully setting up two fully
developed food parks in Haryana, State
Industrial and Infrastructure Development
Corporation (HSIIDC) is developing another
mega food park at
(A) Rai ]

(B) Saha
(C) Barhi
(D) None of the above
59. A symptom of acute chest pain appears

when no enough oxygen is reaching the
heart muscle is

(A) Angina pectoris (B) Atherosclerosis

(C) Heart failure (D) Hypertension

60. Two dice are thrown together. Let A be the
event of ‘getting 6 on the first die’ and B be
the event of ‘getting 2 on the second die’.
The value of P(A N B) is

A g ® a6

o (D) None of these

61. The number of ways of choosing 4 cards

from a pack of 52 playing cards such that
four cards belong to the same suit is
(A) 2860 (B) 2086
(C) 2680 (D) none of these
62. Assembly House of Haryana is at
(A) Rohtak (B) Panipat
< (C) Ambala (D) Chandigarh

63. Which set of letters when sequentially
placed at the gaps in the letter series

RO O O R

o EeraTe 21 QUi e e g
Tofira 0} 3 e shEmn TS i v
SR G T FORTH (HSIIDC)
w R
(A) TE
(B) €=l
.(C) wqt
(D) 3% # & HIS A&

59. W ged & HiTUfRwE i vyt syaisE
Tet vt At g Bt % o< & wa fewd
z, FEAA © |

_AAY G R (B) TRREE
-(C) Tg™E (D) I==aEFI=™

60. 2 TR w W B o § | Wy A TER
98 W 6 YT A il T & AN =T B
TR T T2 T A I HATR | P(A N B)

’}r‘ffamtm%
& N & Yo

Wi

(D) =T @ S 7
61. 52 71T Tl o o Ueh 1 & 4 IS 36 TR T
5‘1}3{ ST A T F TR TR A T H
) 2860 . (B) 2086
ﬁ (C) 2680 (D) T A e
g feman | fd "‘vf:u“
(A) m (B) f 121 lJ‘
(C) 3F=men (D) dErIg

ST Bl T = FHFHER
—ONPM _NPMO_PMON_ 31&% si@et &

ONPM _NPMO_PMON_ will | -
i B 0. _ will complete Emﬁ@ﬁ'ﬁmgﬁ@faﬁm?
(A) PNOM (B) NMPO (A) PNOM (B) NMPO
(C) ONPM (D) MONP _ (C() 8ljlrF’M i SD) MONP
64. Inagroup of 65 people, 40 like cricket, 10 like et - %11{?520 E%%S%
both cricket and tennis. The number of people 8, 10 e sl 2P di P e w81
who like tennis only and not cricket is 3 A Y e it Fad 2P =) vz
(A) 35 (B) 25 &t T o, e 8 gn(cu?ﬁif
(C) 40 - (D) 15 be ((é) i «(B) 25 # re)oue
C 4 ©) 15 e p)?l
-10- 1214 25
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65. Which of the following is not a type of

66.

67.

69.

70.

71.

72,

|~

phulkari ?
(A) Chope (B) Neelak
(C) Tilpatra (D) Mudha

Which among the following statement about

SAARC is wrong ?

(A) SAARC members signed to a treaty
called SAFTA

(B) Its first Summit was held at Bangalore

(C) ItsHeadquarteris located in Katmandu

of Nepal

(D) SAARC was established in 1985
‘Pidi’ refers to

(A) Terracotta (B) Wood Carving
(C) " Footstool Craft (D) Metal Carving

If ' HEATER' is written as ‘KBDQHO'. How
‘COOLER’ can be coded ?

(A) FLRIHO (B) ALRIHV

(C) FRLIHO (D) FLIRHO

The movement of colloidal particles under
an applied electric potential is called

(A) Brownian Movement

(B) Tyndal Effect
«(C) Diffusion

(D) Electrophoresis
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65. frefafad # @ HiH-61 Fadrl F1 T JehR
TR 2
(A) =
(C) ; el
¥ e Pt # 3 - Fom
T TR R 7 _
(A) HTeh TEEdl AT ATHE U 61 T EEAER
T 8 _
-(B) TEH! TE TEHEH AT H g3
(C) 3HH YEATEd JuTel % HicHg o feurd @
(D) & = T 1985 H T3

-(B)

67. T @ Hafiia 2
(A) T <(B) TS el
ey A (D) g el

(68) = ‘HEATER #! KBDQHO' foran st 2,
@l ‘COOLER' &1 %2 &1 &I 7
-(A) FLRIHO (B) ALRIHV
(C) FRLIHO (D) FLIRHO
69. e ferega favra & sferia swfcretia won it i
FHaerdl @ | -
(A) sr3faEm fg
(B) fesat wuma
(C) fermmmm

Which of the following is a supersonic @ ﬁm%f@aﬁ%ﬂq-m@gq@ﬁaﬁm%?
missile ? (A) P (B) 3TehT:
(A) Trishul (B) Akash
(C) Prithvi (D) BrahMos (C) et . (D) wERE
Haryana Police and the Department of @ &famn g i afeen e aret feemm fawm
Women and Child Development have ﬁm%@ngaa‘iaﬁ{aﬁ Wwﬁﬁg
launched a campaign to trace and % femmm |
rescue the missing children of state. (A) HTRIA ﬁ[@
(A) Operation Ch“déenh (B) TR o s
(B) Operation Beti Bachao @ 0
(C) Operation Muskan (C). 3 %ET,EHSI?I
(D) None of the above (D) 3 | I3 T
Select the physiological barrier of innate | 72, SFRwTa TwfeRiferar &1 TR feam Qe
immunity from the following. Frafafaa § 4 g |
(A) Skin on our body (A) TR IR 9 &=
(B) Acid in stomach | : 7 o
(C) Monocytes & i - (C) H’IW
(D) Interferons O 1t (D) 3T
. 11- = S C
§§= Uo+n(m)-)o 12 X2 Xl IX [
1
38 13 —xEx= s
~3e " (D=n(r)-vErAac) 57 [ & 1
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73. Anexplicit process of converting a data from
one type to another is called
(A) type casting
(B) automatic type conversion
(C) data overloading
(D) exception handling

74. Which of the following is not a High Level
Programming Language ?

(A) COBOL

(B) Pascal

(C) Assembly language
(D) FORTRAN

75. International Yoga Day is celebrated on
(A) 20" July (B) 21 July
(C) 22 July (D) 21* June

]

76. |If'A’ means x’ ‘B means '+, ‘C' means '+
and ‘D’ means ~, then 21 0306A882=

(A) 72
(C) 48

77. The mean deviation about the mean for the
data 6, 7, 10, 12, 13, 4, 8, 12is
(A) 3 (B) 9.
(C) 2.75 (D) 3.25

78. Horseisa
(A) Ruminant hoofed
(B) Non-ruminant hoofed
(C) Even toed roofed
(D) Odd number toed hoofed

(B) 0

(D) none of these

79. is the present Advocate General of
Haryana.
(A) Baldev Raj Mahajan
(B) Nawal Kishore Agarwal
(C) Ashok Agarwal
(D) Surya Kant

80. Which of the following is correct ?
(A) Sin6=-5 (B) Cos6=1

g (C) Seco=1 (D) Cosad=0

ll“l||lllll OO

G3) @m%maﬁz@ﬁaﬁaﬁﬁt{aﬁ
e R R

- (A) TR
,&B) STofee 2Tgq FETH
ElETaﬂ‘cr(?ﬁﬁ:”T
(D) T EeferT

70, P itd - O I w0 S
TR R ?
(A) A
*(B) Ur&ERd

Y AT

. (A) 209Em.  (B) 21E
(o) 22 Dy 21 ¥ -

. aﬁ‘A‘mW'x' ‘B Hde™ ‘&, ‘C I
e 4+ 31 D 1 A < 8,

AY-prE7 3D6A8BB2=
Aq—-?-l-t..':.:.?“g D x -+

(A) 72 (B) 0
©) 48 @) T & 1 A
77. iFE6,7,10, 12, 13, 4, 8,12 fqu mea
¥ we famem 2
(A) 3 B) 9
. 2.75 D) 325 -
78. UISIR UH -
(A) STt S et X
/(grﬁtwmm@
«(C) TH TEA H Iredt ATt g
(D) ferem Heam 3 Jrreft e gy
a&mvn%aeirrmnmaﬁaam%i
(B) mﬁwhtaam
+(C) 39T ST
(D) Fdha
@’ﬁtyﬁrﬁaaﬁﬁﬂq-mm%?
(A) Sin6=-5 -(B) Cos@ =1
(C) Seco=1% (D) Cosap=0

-12-



(AR

g1. Haryana has appointed the state's
pbrand ambassador to promote Yoga and
Ayurveda.
(A) Baba Ramdev
(B) Sri Sri Ravishankar
(C) Sadguru
(D) Acharya Balakrishna

g2. Thelow salinity of water is observed in Bay
of Bengal due to
(A) High evaporation
(B) Hydration
(C) Precipitation
(D) Influx of river water

A}

g3. Recently, this country has rec';uested
Haryana Government to celebrate Geeta
Jayanti Mahotsav in their country
(A) Malaysia (B) Bali
(C) Pakistan (D) Mauritius

g4. Select the pair in which the numbers are
similarly related to the pair 7 : 24.
(A) 30:100 (B) 23:72
(C) 19:58. (D) 11:43

85. Three married couple are to be seated in
a row having 6 seats in a cinema hall. If
spouses are to be seated nextto each other,
in how many ways can they be seated ?
(A) 6 (B) 18
(C) 48 (D) None of these

86. I the sum of first 3 terms of a G.P. is :_g

and their product is —1, then the common
ratio is

W) -3or ~47 .(B) 1,13/,

" 1
© 3or 4 D) V2 or2 (C) Yjor 4/ ©) Y2or2
87. Stomach of ruminants is divided into 87. w FAAAF I HH
|
(A) Four parts (B) Two parts /«%T{ - (@)
(C) Three parts (D) Five parts (C) < W (D) §isr W
88. A charge is framed by 88, U IR ____ HI SR Sl @ |
(A) The court (B) The police AR T (B) gfer
(C) The prosecution (D) All tha(abova ¢ (C) i3 us (D) Ia w+ft
ok € Alsart =" ¥
13- c
a+b4C :'__%
'ob= 12 . 9
bt2b = JFZ; 2 a:(:._u’ Ca+—02¢ (@+0 . 2
t% Té!? ahd.aac = @ +£c 2aC—49C -
ke > Ay )
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English Language
Complete the sentences selecting correct opﬁion :
89. We are so late

(A) we couldn’t catch the train
that we cannot catch the train
. (C) to catch the train
(D) that we could catch the train

. As soon as the speech started
» (A) then the demonstrators rushed to the
platform
(B) when the demonstrators rushed to the
platform
(C) than the demonstrators rushed to the
platform

-(D) the demonstrators rushed to the |

platform

Select the correct indirect speech for the following :

91. The er says “Have you seen the map 7"
The master inquires if he has seen the map
(B) The master inquires if he saw the map
(C) The master said had he seen the map

- (D) The master asked had he seen the map

92. He said “Be quiet and listen to my words".
He urged them to be quiet and listen
to his words

(B) He urged them if they sit quiet and
listen to his words

(C) He said to them be quiet and listen to
his words

« (D) He told them to quiet and listen to his

words
Fillin the blanks with appropriate from the given options :

Benny had finished cooking when the
visitors
~(A) entered
(C) entering

94. He two wickets before play was
interrupted by the rain.
(A) _has taken (B) taken
) had taken -(D) took

(B) had entered
(D) were entering

(AL AR

v foreeft 3t 0T g R
FA-TIFF B 7

(A) 0T TR

(B) TEY HIH

(C) il HRF

.(D) H I

SR STe2 1 T B9 ©
(A) T
(B) ¥
(C) T
(D) ¥

Tt ferevor
(A) forar
<(B) T
(C) dTeTh
(D) i

(39 :ﬁ%@ﬁmmanﬁ’aﬁaﬁ;ﬂ%
“(A) FAA
(B) &a¥
(C) fwrh
(D)

(100) T @ W 8 e e e
(A) T ¥ G @Rl St 2
(B) TH @M @™I
(C) T | W W W
(D) TH @I @Tar 8
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16.

19.

20.

10. Candidates are warned not to carry handkerchief, any

1.

12.

13.

17.

18.

mobile
phone, any type of watch, belt, wear ornaments like ring, chain,
earring etc. electronic or communication,device, Pen, Pencil,
Eraser, Sharpener and Correcting Fluid in the examina tion centre.
If any candidate is found possessing any such item; he/she will
not be allowed to enter in the examination centre. Candidate
found possessing mobile phone or any other aiding material
as mentioned above in the examination room will be treated
a serious violation and it will amount to cancellation of the
candidature and debarring him/her from future examination.
The written examination will be supervised by doing frisking
before allowing entry into Examination Centre, using CCTV
Cameras, Biometric Attendance process by capturing the
Biometric thumb impression and photograph of the candidates
during Examination. Videography and Jammers etc. shall be used
in the Examination Hall/Examination Centre to stop copying and
impersonation etc.

Candidate's request 10 change the examination centre and seat
in the Examination Hall shall not be entertained.

The stanned photograph of the candidate on his/her Admit
Card or attendance sheet will be tallied with the candidate
, appearing in the examination by the invigilator. In thé event of any
discrepancy in the identification and verification of the candidate
and photographs, the candidate shall not be allowed to sit in the
examination and be liable for criminal prosecution.
14. The OMR answer sheet consists of three copies, the original
copy, the commission copy and the candidate's copy. Do
not separate or displace them. Do not darken the bubbles in
three copies of OMR Answer sheets separately. Candidate
must handover the OMR Answer sheet without separating
the three copies to the invigilator at the end of examination.
Invigilator will hand over the candidate's copy after separating
it. The candidates are allowed to take away this Test Booklet
with them. -
Each question has four alternative answer of which only oneis
correct, For each question, darken only one circle, which ever
you think is the correctanswer on the OMR answer sheet with
only Blue/Black Ball Pen rovided by the Commission.
* Pencil should not be used for darkening the circle. |f more
than one circle is found darkened, that answer will not be
evaluated.
No candidate shall be allowed to go to the toilet/washroom during
first and last thirty minutes of the examination.

No candidate will be allowed to leave the OMR Answer sheet biank.

15.

If any OMR Answer sheet is found blank, it shall be crossed by the-

invigilator with his/her signature and mentioning “Cancelled” on it

The answer sheet will be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the answer
sheet invalid. .
Carefully fill in all the necessary particulars on the answer sheet.
Change of answer sheet is not permitted.

While darkening the appropriate bubble(s) in the boxes darken
the chosen bubble(s) fully as given below. If you darken more
than one circle, your answer will be treated as wrong and such
answer shall not be evaluated.

10.

11.

12
13.

i mﬂﬁﬁm‘hﬁmﬁﬁﬁﬂﬁmaﬁmmaﬁqﬂmﬁm-
=6 e T & e ofR a st arfirim =1 T B |
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16.
17.
18.

19.

20,

. CCTV 3w, wriif 73 @ Sip 3 s s ufef A, B
it Hifemi ofye S @ i anfe e 8 A T O

arei = S & sl § 3 v, were e, R o e
v, Fee, oI T EER H A, A, A, g, wri s
o gam Fremt 3 fore et erd wivan-dz & 7 o s, s A S,
B, H werah gftn mn frfl oft e smpm v | 3 TS
& mmy et oft vl a0 e g H e e fean oo | wen-F
3 stz faedt avemefi % e At Wwma B @ G € @ avg R
e T T 2, St 2 38w w5 i e 5
maﬁzvﬂmﬂmﬁ.wzﬁmﬁmmam@amqﬁwﬁm
aﬁmmmﬁﬁmﬁwﬁmmﬁmm|

ferfiam wite 25 rfem H weT -3 1 w391 @ vea aendt & sfafem,

1 ol sl U T g e A T |

THen-sg T qﬂaﬁ?mqﬂaﬂ-?hﬁ?ﬂz%wﬂaﬁ#ﬁﬁaﬁ%ﬂ
spveameff o v . farem e foln s l
e 7 SET-3 1 Iufeuf e # sl ER-hcadadar
ey Brere sveand & i e | e s 3w it 5 e S

WQMHm~mﬁ?ﬁqﬂﬁﬁﬂ,®aﬁ,muﬁqé@?ﬁ
ﬁﬂlﬁmﬁmaaﬁsomnm-maﬂaﬁuﬁzﬁﬁﬁmaﬁ
ST~ ST el 7 | Syeedi e T §H R OMR IH-I
A1 whirdl @ vem B fen e aftEieer =1 di 3 | st ufd
mglﬁmmmmﬁ&amﬁ?ﬁ | ayeaeff S AT T e
firt =1 & o & € |

uﬁmm%maﬁﬁmmﬁqﬂuﬁﬁﬁﬁmﬁmﬁtm
m&xmﬁafmomnm-mﬁﬁ@wwrﬁﬁﬂhﬂmm%
Fott 37 W) I GHEA £ | T YT S FI IUTTEH T T
e T T T WSO A AT 1 e 1 o & for ufEeE

mwmtlﬁwm%fmﬁrﬁﬁﬁwﬁmm%ﬁlm
IR 1 A el R SO |

e ¥ wan o ifm fia frre % dom fre oft srend =t wan
(Frarere fateren) H s 1 safa 7 € s )

feft +ft arendf F1 OMR I -wa @reht Bre T 1 afe
%1 OMR IT-T @ieft i 7§ 7t wiiieh 36 W wiE FH F
YT T EETR R & oin 3 v e T 3
T T o ST AT SRt HenR § St | St A e
WO T I~ ST B AT E |

A sTEvaE fa aEuEEE - § 9 R | 3w F
TeeT Y ST TR
i o W) TiTer /et o T e e fen wu A o en /e v
72 3 e B a7fis e w1 Fen H € A7 S I e w9
ST S TR I R e T g

CORRECT METHOD/&& Tl

WRONG METHODS/ Tr&Td ik

AO00®

A®C0 GRCOO® ®®OO0 ®O®OO

21,

It a candidate does not comply with the instructions as mentioned
above or creates any kind of indiscipline, the Commission shall
take action as per Instructions and in addition can also debar
the candidate from appearing In the Examination, to be held in
future and can also file criminal proceedings.

L--___'_-

c

21.

uf{uﬁé sy Ivedem Frdam e e e e @ A SreTeR s R
701 3 P e frea s wm, i g st 38
wifir 5 = 5 ATl whenedt | ot afem R a1 3 e
AT sTaTgl w1 6 o 7 R s e R |

o




